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Night Satellite Photo (NASA 2014)
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2| Ns=R2svs. E2EE

Fission Bomb
= HEU bomb

= Hiroshima bomb containing about 60 kg of uranium enriched to about 80%
= Using gun-type device or implosion-type device
= Roughly 25 kg of HEU (90% enriched) for a nuclear bomb using implosion-type device

Conventional Sub-critical pieces of
chemical explosive  uranium-235 cormbined

Gun-type assembly method

= Pubomb

= Nagasaki bomb containing about 6 kg of Pu
= Using implosion-type device
= Roughly 4 kg of Pu for a nuclear bomb using modern technology

(http://en.wikipedia.org/wiki/Atomic_bomb)

Plulaniurm corg
compressad

Implosion assembly method

(http://en.wikipedia.org/wiki/Atomic_bomb)
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